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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
O 
00 	 June, 2015 

(APPLICATION ORIENTED COURSE) 

AOM-1 : OFFICE ORGANIZATION AND 
MANAGEMENT 

Time : 2 hours 	 Maximum Marks : 50 

Weightage • 70% 

Note : Answer any five questions. All questions carry equal 

marks. 

1. What do you mean by centralization of office 
services ? State its merits and demerits. 	2,4,4 

2. "An office is to a business what the main spring 10 
is to a watch". In the light of this statement, 
explain the role of office in a modern business. 

3. Explain the procedure that should be followed for 10 
efficient handling of inward mail in an office. 

4. Explain the meaning of work measurement. How 3,7 
does it help in improving the efficiency of office 
employees ? 

5. Explain any five functions of an office supervisor. 5,5 
What are the requisites of good personnel relations 
in the office ? 
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6. 	State the relative advantages and disadvantages 5,5 
of computerisation of office work. 

	

7. 	Distinguish between any two of the following : 	5,5 
(a) Alphabetical filing and Numerical filing. 
(b) Computer Hardware and Software 
(c) Data and Information 

	

8. 	Write short notes on any two of the following : 	5,5 
(a) E-mail 
(b) Flow Process Chart 
(c) Storage and Control of Stationary 
(d) Concept of Time Study 
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